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Exercise 1

Calculate the following subtractions :

8874 - 100 =

3760 - 100 =

1346 - 200 =

6907 - 400 =

4910 - 100 =

4433 - 200 =

2936 - 800 =

5891 - 500 =

7762 - 200 =

1610 - 400 =

3234 - 100 =

4794 - 200 =

Exercise 2

Calculate the following subtractions :

7789 - 200 =

9438 - 100 =

4795 - 100 =

7557 - 200 =

1902 - 200 =

7732 - 600 =

7939 - 700 =

7473 - 200 =

4778 - 300 =

7782 - 500 =

3616 - 600 =

2728 - 200 =

Exercise 3

Calculate the following subtractions :

3470 - 300 =

7446 - 400 =

6492 - 400 =

7917 - 900 =

1926 - 800 =

5678 - 500 =

3903 - 500 =

6733 - 500 =

4721 - 200 =

1646 - 200 =

7771 - 700 =

6743 - 100 =

Exercise 4

Calculate the following subtractions :

1447 - 300 =

9213 - 200 =

1664 - 100 =

4251 - 100 =

4743 - 400 =

3288 - 200 =

8804 - 300 =

6427 - 100 =

5840 - 200 =

1471 - 100 =

5345 - 100 =

3946 - 300 =
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